NEET Chemistry Answer Key 2024

1. The highest number of helium atoms is in?
Ans: Option D (4 mol of helium)

2. The compound that will undergo SN Reaction with the fastest rate is?
Ans: Option C

3. Spraying sugarcane crops with which of the following plant growth regulators increase the
growth of the stem?
Ans: Option A (Gibberellin)

4. Identify the step of tricarboxylic acid which does not involve in oxidation?
Ans: Option C

5. Regarding catalytic cycle of an enzyme action, select the correct sequential steps?
Ans: Option B

6. Same only magnet moments is same for which of the ions?
Ans: Option A

7. A sheet is placed on a horizontal surface in front of a strong magnetic pole. A force is
needed to?
Ans: Option B

8. The property which is not of electromagnetic wave travelling in free space is that?
Ans: Option A

9. The quantities which have the same dimensions as those of solid angles are?
Ans Option B

10. The pair of Lanthonic ions which are diamagnetic is?
Ans: Option D



